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WMEHRT: All-34
TR ZVER 5 RO

FFEA: MRS RBFMREATREER AT

WAL FIBRIEA TR

W : R 600mm X 600mm, £/ 0.8mm, £ 30 #, FL1% 2.5mm, FFLE 16.2%.,
FIREEREH AN, HREHEE 02mm, “Acouloc” i kW 55
fii, E#E 80g/m’.

ZEFR: FILERIE D TR+50mm I (32Kg/m®) +350mm 2.

WRTER: 3.0m X 3.6m=10.8m’

WREH: 2011 £12 H13 B

RS : GB/T 20247-2006 /1SO 354: 2003 (7% JRWIER A HIE)

WRBWE: A 268 m’, HFEH 54 m’.

WRINEE: 7352 BK4417 BUBSTAS ¥ 0470, BK4166 HlAE 7538, BK2639 HATE
TR, *E ENG hEAS.

BUEFER: 13 5P OME  (Hz): 100, 125, 160, 200, 250. 315. 400.

500, 630, 800. 1000, 1250. 1600. 2000. 2500. 3150. 4000. 5000.
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MERS: A11-34

TR E RS R BUNRR &

+= WRER:
A%/ Hz 100 | 125 | 160 | 200 | 250 | 315 | 400 | 500 | 630

REEHKa, 053 | 0.57 | 0.81 | 0.97 | 0.89 | 093 | 0.89 | 1.02 | 1.06

A%/ Hz 800 | 1000 | 1250 | 1600 | 2000 | 2500 | 3150 | 4000 | 5000

REF#a, | 110 | 1.06 | 110 | 110 | 1.06 | 0.93 | 0.97 | 0.89 | 0.97
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